\

Tip:please turn these two
parts upside down, then-
screw the middle tube in
counter—clockwise while
installing this lamp

/)

{18ciusters)

2 3
e
{18clustars) (lclusters)

Cautions of installation
‘ Install the bulbs

Hold the bulb firdy (youshould not : ~
touch the hardware part in case of '

electric shock) andthen install it

clockwise tile it is firm ’

@ @
1. Check the packed bags with numbers then open them.

Z.Hang the wood drops to the right position according to
the illustration.

. Put the candle pipes "B”
! on the lampholder A"

B -

%




INSTALLATION INSTRUCTIONS

GENERAL INFORMATION

ATTENTION; READ THE (NSTALLATION INSTRUCTIONS
THOROUGHLY BEFORE MOUNTING

CAUTION -Turn off the main power &t the circuit bresker befors instalting
the fixiure. In ordsr io prevent-possible shock.

Remove the fixture and the mounting package from the box and make surs
%hal nolparts are missing by referenclng. the iflustrations on the instailation
nstructions.

OR CENING MOUNT (Fig. 4 4 5

1. &) Piace the #8-82 HEX NUTS (3.} olo the 78-32 FIXTURE MOUNTING SCREWS (. ).

and attach the FIXTURE -MOUNTING SCREWS to the-MOUNTING BRACKET 2.} or

l(mlve:sal mounting plate, twhichever is provided). Do nol ightan the  HEX NUTS at this time.
Flg. 4) .

" B) If the fixtrs uses 8 single 1/8” IPS NiPPLE (4.) for mounting, thread thiad/8” IPS HEX
NUT (3. )onla the MIFPLE, and screw the NIPPLE inlo the MOUNTING BRACKET!2. ). withoul
lightening the HEX NUT, (Fig. 5!

2. Pult the power supply wires out from the QUTLET 80X (1.). and mount the MOUNTING
BRACKET (2. )) Or the universal mounting plate 1o the OUTLET BOX, using MOUNTING
SCREWS (10.),

3. Altach he powar: supply wices o the fiure lead wires by connecting BLACK (o BLACK(G.)

And WHITE' to"WHITE (5.}, Afiach the’ POWER SUPPLY- GROUND WIRE (7.) fiom Ihe

OUTLET BOX (1.}, and lhe FIXTURE GROUND WIRE (8, ) from the fixture to the green
GROUND SCREW (9.} on the MOUNTING. BRAGKET (2.), or, connect both wires logether
using the comsct size of wira conneclons. .

4.-Place the CANCPY {11.) on the fixlure over tha OUTLET BOX (1.} and onlo the fxture
miounling serews [af NIPPLE(4. ) and adjust the ¥8-32 fisture mounling screws {or NIPFLE)
untit they prokude oul from the CANQPY 1/4”. Remove the CANOBY and sacure the position
of the fixlure mounting screive {or NIPPLE) by fightening the HEX NUT (S} (3.) agalnsl the
MOUNTING-BRACKET {2.). Place the CANOPY back onlo the fixture maunting screws (or
NIFPLE), and secure inlo place using e DECORATIVE NUTS . {12.} Provided.

5. Serew the fight bulb with a meximunz wallage of not more than what ths fixlura 5 wallage
label rating specilles

!NSTALLAT[ON COMPLETEQ

FOR CHAIN-SUSPENDED CEILING MOUNT(Fig. §)

1. Screw the /8 « IPS HEX NUTS (5, Jonto the 1/8 * iPS NIPPLE(4.}, @nd then altach (he end
of the NIPPLE that has the HEX NUT 1o lhe MOUNTINGBRACKET (2,), Do not tighten the
HEX NUT. Pull the SUPPLY GROUND WIRES 18. ) out from the OUTLET BOX(4,) and attach
the MOUNTING BRACKET(2.) assembly to the QUTLET BOX by using lhe siolled-hales an
the MOUNTING BRACKET and the MOUNTING SCREWS (3.) Provided, .

2. Threeo a 1/6 ¢ IPS. HEX NUT(5.) and the SCREW COLLAR LOOP (6, }onto the NIPPLE 7
(4. Yend thal is facing down bul do rat lighten the HEX NUT. Place the CANOPY(15.) Over
the QUTLET BOX{1.} and adjust the SCREW COLLAR LOGP and NIPPLE until the outside

therads on tha SCREW COLLAR LOOP is centered with the center hale opening of lhe

CANOFY. Takg away the’ CANOPY and tighten the HEX NUTS down on the MOUNTING
BRACKET {2.), and the SCREW GOLLAR LGoP, .

3, Opén up the end finks of the GHAIN{17. Yand aliach one end of the CHAIN onto the FIXTURE
LOOP (18.). Stide the THREADED RING (16.) from the SCREW COLLAR LODP (8.} And the
CANCPY (15.)Onlo the GHAIN In that order , and attach the cther end of the CHAIN on to the
SCREW COLLAR LOOP . Cloge the ands of $he chain links. :

. 4. Unsavel lbe fixture’ 2 lead and grdund wires and fraad the lead and ground wires through
aveny oiher fink of the CHAIN ¢17.). and out through (he SCREW COLLAR LOOP (8.) and
NIPPLE (4. } assembly, starting with the chain link altached tu'the FIXTURE' 8 LOOP{18.)

4. Attach the power supply wires lo the fixture lead wires by cornecting the BLACK POWER
'SUPPLY WIRE(11, } to tha SMOOTH FIXTURE LEAD WIRE (12, )and the WHITE POWER
SUPPLY WIRE (0.} to the RIBBED -FIXTURE LEAD WIRE {(i0.), Attach the SUPPLY

GROUND WIRE (8.} from lhe OUTLET BOX (1.). and the FIXTURE GROUND WIRE (7. )
From the fixiure onto the green GROUND SCREW (14.) On the MOUNTING BRACKET (2.}
or. connact both wires logether using the correcl size of WIRE CONNECTORS (13, ). Place
connected wiras inside of. the OUTLET BOX. .

8, Slide the CANOPY (13, )and the THREADED RING (16.)ef the SCREW COLLAR LOOP

(6. Jup the CHAIN(17. ) Placa Ihe CANOPY over the OUTLET BOX(1.), and secur in place:
by screwing.the THREADED RING onls (he SCREW COLLAR LOOP .

7. Scraw In light bulbs that do nat exceed the maximum wattage speclfied on Eie fixlure’ s
wallage raling label into the socket(s)on 1he fixiure. i

NOTE. If the botlom opening of the |aﬁip compariment 1o the fixiure is too natrow to ailow
access lo the light bulb (s). unscrew lhe two decorative screws at the lop of the lamp
compaetmant to allow i to drop down far lamp replacement, .
INSTALLATION COMPLETED

COPYRICHT

-| 4 FIXTURE MOUNTING SCREW

- B, FIXTURE GROUND WIRE.

| N.CANOPY

1, QUTLET BOX
2, MOUNTING BRATKET 1
3, 4832 HEX HUT '

5 WHITE YO WHITE WIRE GORNECTION
6 BLACKTO BLACK WIRE CONNEGTION
7, POWER SUPPLY GROUND WIRE

5. GROLND SGREW -
15. MOUNT1G SCREWY

0=

12, DECORATIVE NUT

12,

Fig 4

. T.POWER SUPPLY GROUND WIRE

LOUTLETBOX -

2 MOUNTING BRECKET ' 1.
3. 12" 1PS HEX NUT ’ .

4. NIPPLE ! - eE '

5. WHITE TO WHITE WIRE CONNECTION i

§, BLACK TO BLACK WIRE CORNEGTION

& FIXTURE GROUND WIRE
5, GROUND SCREW =

10. MOUNTING SGREW '
W, CANOPY - / N

12 BECORATIVE NUT

5'. 3.

7

S

e Q\E
©

1.

e .
@

3.

Fig.6|

-\CEILI'NG

i1

1. QUTLET BOX

2, MOUNTING BRAGKET
3, MOUNTING SCREW L oa-
4 HIPPLE

5. /8" IPS HEX HUT

6. SCREW GOLLAR LOOP
. FIXTURE GROUNO WIRE
0. SUPPLY GROUNG WIRE
9, WHITE SUPPLY WIRE
15, RIBBED FIXTURE LEAD WIRE
U BLACK SUPPLY WIRE

12. SHOOTH FIXTURE LEAD WIRE
12. WIRE CONNECTOR

14 GAOUND STREW

16, CANDEY

16, THREADED RING

12,CHAN

0. FIXTURE LOOP

13.
=12,




INSTALLATION INSTRUCTIONS

GENERAL INFORMATION

ATTENTLON: READ THE INSTALLATION INSTRUCTIONS
THORDUGHLY BEFORE MOUNTING )

CAUTION: - Turn off the main pewer at the circuil breaker before
lnsl’amng the fixture, in, order lo prevent possibla shock.

Ramova the lixture and the mounting packag'e from the box and make
sure thal no pars ars missing by referencing lhe illustrations on the
instaliation instructians.

FOR WALL MOUNT (Flg. 1 &2

1. &) Place the #8-32 HEX NUTS {§.) Onla the #8-32 fixture mouniing screws , and
altach tha fixlure mounling screws to the MOUNTING BRACKET {4.).or unlversal
mounting plate, (whicheveris provided). Do nol tighten the HEX NUTS al this time.

1, TOP COVER

3. DECCORATIVE SCREWS.
3. QUTLET BOX )

4, LOUNTING RRACKET
5. 48-32 iP5 HEX MUT

§ MOUNTING BCREWS
2. MPPLE .
0, WHITE TO WHITE WiRE COMMECTION
9. GUPPER WASHER (Il pravided)

10. BLAGH TO BLACK WIRE GOHNECTION

Fig.1

(Fig.1} 11, POWER SUPPLY GROUND WIRE 17
- 12, FIXTURE GROUND WIRE
B} Ifiheflxture usasa single 1/8” 1PS NIPPLE(7 )} for mounting.thread the 1/8"IPS 13, GROUNO SCREW
HEX MNUT (5.) Onlo the MPPLE, and screw Ihe NIPPLE into the MOUNTING 14, CANOPM!
BRACKET (4., wilhoul tightening tha HEX NUT.(Fig. 2} 15 DECORATIVE NUT
. 16, TAlL PIPE
2.Pull the powsr supply wires oul from the OUTLET BOR (3., And moun! the 17, TAlL SECTICH
MOUNTING BRACKET{4.)or the universal mounting plalelo the OUTLET BOX,using
MOUNTING SCREWS {6.). 1. TOP COVER . ..
2, DECORATIVE SGREWS Fig2
4. Allach e powar supply wires |o tha figture lead wires by connecting BLACK Lo , ‘J-DUTLETﬁd"é
BUACK{10.).and WHITE o WHITE{B.), Altach he POWER SUPPLY GROUINDWIRE vl
(11} fror the GUTLET QX (3.]. and lhe FIXTURE GROUND WIRE {12 ),from the Y WEUNTING SCREAS
fisture o the green GROUND SCREW (13.) on lhe MOUNTING BRACKET {4.). 0r, 7.NIPPLE .
connect bolh wires logether using the corracl size of wire cannactors, i 3. WHITE TOWHITE WIRE CONNECTICN
. 8, CLPPED WASHER (i pravided)
4 Place the CANOPY (14.) on Iha fixture overlhe OUTLET BOX (3.) and onta ke 10, BLACK O BLACK WIRE CONREETION
uture ot nling serewslar NIPPLE(T )] And adjust tha #3-32 fixlure mounting soraws n PQWERESUF"”-GH"”“DW’RE
(o NIPPLE) unii noy prolruda outiram the GANQPY 1/4° Ramova the CANOPY 2nd R
sacure the position of the fixure mounling screws (or NIPPLE) by tighlening (he HEX 14 CANOR'Y
NUT1{S) (6.} against the MOUNTING BRAGKET (4.). Fiacethe CANDPY back onta 15, DECORATIVE HUT
the fixtura mounting serews {of NIPPLE ). and sacure into place using the 18, TALL PIPE T
DECORATIVE NUTS (15.) Provided. : l;-TgEJgE‘igON 7. e
5. Scraw the TAL'SECTION [17.) {1 provided) onto the COUPLING{18.) located at 8. calml 4. . b
the hottom of the lamp compartment. ’ 3, 6 H i6.
]
8.Seraw alight bulh thal daes not excesd the maximum wallage specilieg on the fixture Ie -7 = i
labet, Into the socket located Inside he lamp compariment , Flage (he lamp'caver enio J !
lha top of the lamp comparimant . and secuie 'iny. pasition using the degaraliva head ‘ b
sgrews provided, . _ : 7 i .
. . ' 17
INSTALLATION COMPLETED H
. ) . ;T ]
. 14, }_-.1_}3'__“’.
127 ”‘1‘1 15, @
" P06 %

FOR POST MOUNT (Fig. 3)
1, Ftace tha fxture on the top ;:l the POST{0.) I which the fizture is lo he mounted (o,
and posilion as desired . Using the holas located on the POST CAF {3.) mark Ine hofe

poshion on the POST . Remove e fixiure from the POST and drill 2 1/8"diameter hola
a1 aach marked posilion on the POST.

2. Pull tha power Supply wires out from the POST (8.) and the fxwre lead wires oul

from Ihe POST GAP{3)and atlach the wires logether by connacling BLACK ta BLACK
(6, } and WHITE to WHITE (5.}, Atach the POWER SUPPLY GROUND WIRE (Z.)to

the FIXTURE GROUND WIRE (8.} using a wire eonnector rated for he size of wires
baing connicléd.

3. Placa the connected wires

(3, }in place, aligring the Hole

down inside.the POST (2.),

the POST CAP lotha POST usin

g ¥10 X 1/2"long 8l

and mount ihe POST CAP

< In the POST CAP wilh Ihe cnes o the POST. Secure

li-tapping SHEET METAL

13

1. LAMP COVER

2. DECORATIVE HEAD BCREW
3, POSTCAP

4, SHEET METALBCREW

&, WHITE TOWMITE WIRE COMNECTION
&, GLACK TO BLACK WIRE CONNECTION
7. POWER SUPPLY GROUNOWIRE
B, FIXTURE GROUNDWIRE

9, POST

SCREWS {4, ) Provided.

4. Serew a light bulb thal does nal exceed lhe maximum watlage specified on the fixture
labsl, inta the lamp socket . Place the LAMP COVER (1.} onto the top of the famp
compariment . and secu in posilion using the DECORATIVE HEAD SCREWS (2}
Provided.

NSTALLATION COMPLETED

COPYRIGHT



